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18P/291/22(Set-1)

No. of Questions : 120
o F =T - 120

Time : 2 Hours | [ Full Marks : 360)
il Rt Lt - 360

Note : (i) Attempt as many questions as you can. Fach question carries 3 (three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempled question,

mmwﬁgamﬁwmaﬁrmma{ﬁmmmﬁs
mwaﬁ?a}ﬁmwwaﬂam;wﬁmﬁﬁﬁaqﬁmmﬁ

(i) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

Uﬁwﬁm%ﬁmwﬁwa?ﬁmﬁﬁﬁmﬁmnmmm

Directions {Question Number 1 to 5) : Following is a passage with 5 questions, read
the passage carefully and choose the best answer to each question out of the four
alternatives according to the content of the passage.

Passage

Nobody can argue that the acquisition of knowledge is more fun and easier with
computers. The mere activity of touching and exploring this device constitutes an
enjoyable task for a child. This, accompanied by the relaxing attitude and software
interactivity, usually contributes to a better grasping of new knowledge. At a higher
educational level, the availability of digital book, simulator and other academic
materials provide the student with an ever accessible source of information, that
otherwise would not be at hand. But, besides the increasing complexity and behaviour
of intelligent software, which is usually embedded in the academic digilal material,

(3) P.T.0.
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the need for human interaction in the learning process will always be present, at least
for a human being to be able to

‘o the foresecable future. There is the necessity
A computer, no matler how

determine what the specific needs of cach individual are.

sophisticated its soltware is, can hardly mimic that expertise of a teacher in how 10

explain and adapl complex concepls to different individuals.

1. According to the author, human in tervention will always be required m oraer

[{RIH

(1) repair broken down machines

(2) determine the specific needs of the individua!
(3) update old software

(4) build bigger machines

2. Inwhat way are computers ina dequate mspite of their sophistication 7
(1) they keep breaking down aller much use
{2) they still need humans to turn themon and aff
(3) they can hardly imitate a teacher's ability to explain the most ditficult o

COonee pt.ﬁ

(4) they require humans to updale them periodicaliy

3. According to this passage, what new developments in the world of compulers
have helped students gain more access to information ?

(1) availability of printing facilities

(2) availability of word processing applications

(3) availability of digital books

(4) availability of general knowledge soltware

4. That computers make learning easier is a fact.
(1) contesled by a few (2) welcomed by all

(3) accepted by all (4) rejected by some

(4)
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5.
What other factors related to computers contribute Lo a deeper acquisition of
knowledge ? ‘

(1) relaxing attitude and software Interactivity
{2) convenience of usage and design
(3) prompl response and accuracy

(4) user friendliness and easy accessibility

]_-hrelci‘mns {Qm—estinn Number 6 tg 9) : In the fﬂ]lﬂwing questions, choose the waord
thatis opposite in meaning to the word given in capital letters,

ﬁéﬂ{ﬂ?ﬁﬁﬁﬁﬁﬂ):ﬁmﬁﬁqamﬁ*ﬁ.wmfﬁrgﬁm%ﬁﬁmﬁmﬂaﬂﬁw

8. AMATEURS:

(1) Demaocrats {2) Promoters
(3) Professionals (4) Actors
7. DECEIT:
(1) Sincere (2) Plainness {3) Natural (4) Honesty

8. BENEVOLENT:

(1) Equivalent (2) Malevolent

(3) Suvervign {4) Prevalent
9. ABRUPT:

(1Y Gradual (2] Obscure

(3} Rapid (4) Concrele

Directions (Question Number 10 to 13) : In the following questions one word is given
along with the four alternatives. Out of the four alternatives, choose the one which
best expresses the meaning of the given word.

Fréw (e dem 10 ¥ 13) : Foafofa veit 4, 1@ o= & w9 ) fiwey Ry w1 | 5=
o fawedt # W vd & g By o1 Ry T we & aed @ wew s e e e

&
B |

{5) Rl
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10,

11.

12.

13.

PODIUM ;
(1) Stand
(3) Tripod

CHARISMA :
(1) Charm

(3) Power

INSANE :
(1) Foolish

(3) Cowardice

QUEST :
(1} Trial

(3} Search

(2) Arena
(4) Dais

(2} Character

(4) Fame

(2) Funny

(4) Mad

(2) Test
{($) Decision

Directions (Question Number 14 to 19} : In the following questions, sentences are

wiven with blanks to be filled in with an appropriate word. Choose the correct oplion

o £11l in the blanks.

frdyr (7o wEm 14 ¥ 19) ¢ Fefaieg aw= A WTel WM S W g fed # R
Sqge T B AR A ¥ | Erel W R @ oy R w9 g i |

14.

15.

He is only an ...

sincerely.
(1) honorific

(3) honourable

(1) given for

(3) accorded to

director in the organization but he does his work

(2} honour

(4} honorary

.................. him.

(2) allotted to
(4) allied to
(6}
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TE | hm-'e A LS}

................ riches.
(1) desirous of (2) desire of
(3) desire for (4) desire to
17. Thedoctor.......... the woman that her son would recover.
(1} ensured (2) insured
(3] assumed (4) assured
18. Theshipis...... s Geneva,
(1) destined to (2) bound 1o (3) bound for (4) bound of

19. Rahul had always hoped that his father would ........ . the property to him.
(1) bequeath (2} bespoke (3) disclaim (4) beseech

Directions (Question Number 20 to 23) : In the E{jllﬂwing questions, four words are
given i each question, out of which only one word is correctly spelt. Find the
correctly spelt word.

forder (oot = 20 9 23) ¢ Frfolad weil & yde ue § o e Ry M ¥ BEd 9
Hdel TH T B g 98 F | W T ard o ) amngn

20. Find the correctly speit word.
qE A TS g 3 gy
(1) Decesive (2) Decesieve
{3} Decisive (4) Deciseev

21.  Find the correctly spelt word.
T I AT T BT Aangy |
(1) Milennium (2} Millennium
(3) Millenium (4) Millanium

22. Find the tn}rrccfl}r spelt word.
A T AT 9 DY G |
(1) Alkale (2] Alkalie
(3} Alkali (4} Alkel

(7) P.T.0.
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Find the correctly spelt word.
T ae gt v @l adiEy |
(1) Awakward

{3} Awkkward

23.

(2) Awkword
(4) Awkward

Directions (Question Number 24 to 128) : The following table shows the number of

new employees added to different categories

number of employees from these categories w
in 1995, Study the following table carefully and answer the

of employees in @ company and also the

ho left the company every year since the

foundation of the company
questions accordingly.

ﬁﬂ{mﬁmnﬁzs]:fﬁﬁﬁ?ﬁMWW%ﬁwmﬁ%uﬁw%mﬂéuﬁ,
ﬁﬁﬂﬁﬁﬁ%ﬁﬁﬁfﬂ?ﬁﬁﬁiﬁﬁﬂﬁﬁfﬁﬂﬁﬂﬁm~'ﬂﬁiﬁ[ﬁ?§ﬂﬁ&73¢rﬁﬁﬁ
el B A SRuIREr B W g ¥ PR GRAY @7 WAAGES SRL
Afre g 8 R g @ g AR

iYear Managers TEC]}E:EE?.S___GPE?E?S Accountants || PfEU_nE_“.__
1 New | Left New | Left | New | Left | New Left | New | Left
1995 | 760 | 1200 | 880 - 1160 | 820 |

| 1996 | 280 T 120 | 272 | 120 | 2 | 104 | 200 | 100 : e | 96 |
1997 | 179 ] 92 | 240 ; 128 | 240 | 120 D224 | 1M ! 152 88
1993! 148 | 88 | 23 | 9 | 208 | 100 | 248 | Y6 l] 19 | 80
11999 ' 160 | 72 | 256 100 | 192 | 112 | 272 | 88 | 224 120
izm‘mi 193 | 96 | 285 | 112 | 248 | 14 | 260 | 92 | 200 i 1;1 :
24. What is the difference belween the total number of Technicians added to the

Company and the total number of Accountants added to the Companv during
the years 1996 to 2000 2 '

7§ 1996 ¥ 2000 a6 @ue § Wi A T 2R @ e v v e
i wife B T umeRed # Bd we § fedar s g 7

(1) 128
(3) Yo

(2) 112
{(4) 88

(8)



25,

26.

27.

28.

18P/291/22(Set-1)

What was the total number of Peons working in the company in the year 1994 2
aﬁi%@ﬁmﬁﬁ?ﬁ;ﬂ'{ﬁﬁsﬁﬁﬁaﬁm%ﬁﬁﬂ?

(1y 1312 (2) 112 (3} 1088 1) 968

For which of the following categories the percentage increase in the number of

employees working in the Company from 1995 10 2000 was the maximum ?
(1} Managers {2} Technicians
(3) Operators (4} Accountants

ﬁw‘eﬁqﬁﬁﬁ%ﬂa&ﬁaﬁm%émmwaﬁamﬁﬁmﬁmﬁzﬁzﬁa&
[ 7 yfoer gfs aftras of 2

[}) T (2) eFNRrm
(3) sifg¥ex (4) UPREC<H

What 1s the pooled average of the total number of employees of all categories in
the vear 1997 7
o 1997 % Wt 991 & s Ryt B ga wen w1 wthe svd Tmoer 2

(1) 1325 (2) 1195

{3) 1265 (4) 1235

During the period between 1995 and 2000, the total number of Operators who
left the Company is what percent of total number of Operators who joined the

Company ?

a9 1995 % 2000 & drg TN ol A diived W @ wEn ewd e
HY Gl ATed A A e & e vftem &

(1) 19% (2 21%

(3) 27% {4) 29%

(9) P.T.O.
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¥ bt i
The following hine j,raph gives the percentage

Direction (Question Number 29 to 33) :
total number of

af the number of candidates who qualified an examination out of the o
d for the examination over a period of seven years from 192

candidates who appeare
¥ and answer the questions iven

to 2000. Study the following line graph carefull
below 1t.

Py (o= wiem 20 @ 33) ¢ Py vt 1994 & 2000 9% uﬁﬂwif{ﬂﬁﬁﬁu &
gy iRl A e A 1 o enafial @1 e uftrea wlan € fmerT odlen @ s
e A &) P s @ aaurge e B g Fra Ry wedl @ IR

Percentage of iotal number of candidate who qualified o appear in an examination over

the years
P gt & qher # AP qu e oeeiiil 4 sidar s spabi bl Y
90 1'| 80 80
8O -
70 ; . 60 60
o
7 B0 50 50
5 50
2
£ 401 39
30 4
20
10
D b ) $ § e + SR Y—

1994 1995 1996 1997 1958 1599 2000

Years

29, The difference between the percentage of candidates qualificd among those
who appeared was maximum in which of the following pairs of years ?
(1) 1994 and 1995 (2) 1997 and 1998
(3) 998 and 19949 (4) 1999 and 2000
Prer m aqul # @ feent ofier # witfer gy ewaldil oor wdm g anefdia @
yfawrd & g o arfemg e 7

(1} 1994 3% 1995 (2) 1997 a3 1948
(3) 1998 3T 1999 (4) 1999 afte 2000

(10)



30.

31.

32.

33.

18P/291/22(Set-1)

In which pair of years was the number of candidates qualified, the same ?

(1) 1995 and 1997 (2) 1995 and 2000
(3) 1998 and 1994 {4) Dala inadequate
ot g aef F @ e ardan s sl @ s W o) 7
(1) 1995 @R 1997 (2) 1995 afre 2000
(3) 1998 3w 1999 (4) amang afes

If the number of candidates qualified in 1998 was 21200, what was the number
of candidales appeared in 1998 ?

(1) 32000 (2) 28500

(3) 26500 . (4) 25000

afe 1998 # srar s spafdfat @) wian 21200 o, o 1998 # qden § whna Y
srafei &1 wEr @ o ?

(1) 32000 (2) 28500

(3) 26500 (4) 25000

If the total number of candidates appeared in 1996 and 1997 together was
47400, then the total number of candidates qualified in these two years logether
Wds |

(1} 34700 (2) 32100

(3} 31500 (4) Data Inadequate

afe 1996 3R 1997 # Wiwfem gy snamefal 9 @ T 47400 o, @7 59 ) gy} 4
U A Frere g e anafdil o qe e fral o ?

(1) 34700 (2) 32100

(3) 31500 (4) I sfids

The total number of candidates qualified in 1999 and 2000 together was 33500
and the number of candidates appeared in 1999 was 26500, then what was the
number of candidates in 2000 ?

(1) 24500 (2) 22000
(3) 20500 (4) 19000

(11) PTO.
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() =)

g o At T T AR e W 3330

ofe 1999 o 2000 F ! : |
il @) e

ort 1999 3 @G qu el W vl 500 1, ar 2000 ;
forery o) 2

(1) 24500 (2) 22000

{3) 20500 (4} 19000

Directions (Question Number 34 to 38) : The following line graph gives the ratio
the amounts of imports by a company tu the amount of exports from that company
over the period from 1995 Lo 2001, Study the following line graph carefullv and

answer the guestions given below it.

frdyr (wem 34 9 38) : P il UE FEET R 1995 ¥ 2001 a6 fF 1 s w

mr der I Rl g B oma ol @ " & A gt w1 el e @
AT ST @i aen A Ry pel @ S A

Ratio of value of imports to exports by a conipany over the years
TG m e e - e : 1.55. B

o e e e e e B S

1_4 pl PO
1.3 4
1.1 4

1 r
0.9 4-—
0.8 -
0.7
0.6 4--
0.5 1
04 {—=—
034 - LIERATS M 2o
ﬂ._z 4 - o L dn e A A o e
0.1

1995 1996 1597 1998 1959 2000 2001

Years

34, If the imports in 1998 was Rs. 250 crore and the total exports in the vears 1998
and 1999 together was Rs. 500 crore then what was the imports in 1994 ?
(1) 250 crore (2) 300 crore (3) 357 crore (4) 420 crore
A 1998 § e © 250 @RS o @ 1998 SN 1999 H §GE s T S0 e
off @ 1999 # siurd {deem o 7
(1) 250 w98 (2) 300 @2 (3) 357 VS (4} 420 w18

(12)



35.

36.

37.

38.
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In which of the following years the imports as a proportion to the exports of the
company was minimum ?

(1) 1995 (2) 1994

(3) 1997 (4) 2000
Wa&?ﬁﬁﬁmﬁmﬁﬁﬁvﬁaﬁﬁwﬁmmwaﬂ

(1) 1995 (2) 1996

(3) 1997 (4) 2000

What was the percentage increase in imports from 1997 to 1998 ?

(1) 72 (2) 56

(3) 28 (4} Data inadequate

1997 9 1998 & dta @ s wier ¥ foad ofy o6 2

(1) 72 (2) 56

(3) 28 (4) st aifee

If the imports of the company in 1996 was Rs. 2,720,000,000, then what was the

exports from the company in 1996 7
(1) 3,700,000,000 (2) 3,200,000,000
(3) 2,800, 000,000 (4) 2,750,000,000

#fe 1996 # 9 BT AAE 6 2,720,000,000 o, & 1996 ¥ FRET 1 Ryate e
oy ?

(1) 3,700,000,000 (2) 3,200,000,000
(3} 2,800, 000,000 (4) 2,750,000,000

In how many of the given years were the exports more than the imports ?

(1) 1 (2) 2
(3) 3 (4) 4
o 1 forey aul & smara @t aren fral arferes e ?
(1 1 (2) 2
(3) 3 (4) 4

(13) P.T.O.
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Direction (Question Number 39 to 43} :

series is given with one term missing. Choose the correct alt

In cach of the following questions d number

the same pattern and fill in the blank spaces.

ernative that will conlinue

frder (g G 39 @ 43) @ A S Yy we ¥ o el & g 2 R 0w e
e &1 {20 M et # 9 I o Qe 3 gt R o Q) g 00 T anEe S

39.

40.

41.

42,

43.

1%.35, 57, 79, 511,..

(1) 1110

(3) 1113

8.13; 13,23, 18, 33,... 7

4,9,16,25,36, .. 7
(1) 42

(3) 38

12::24; 48,96, 1927

(1) 392

(3) 384

567,189,63,21,..7

tly 12

(3} 7

(2)

1112

1315

14s

Ly
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4. Arrange the words given below in a meaningful sequence.

45.

46.

1. Milk, 2. Grass, 3. Cow, 4. Butter, 5. Curd

(1) 3,2:1.5.4 (2) 3,1,2,5,4
(3) 2,1,3,4,5 (4) 2,3,1,4,5
| Ry 0wl w ve weds e  aahen ey
1.5, 2 9/, 3, T, 4. AeEH, 5. g8

(1y 3,2,1,5,4 2y 31,254

(3) 2,1,3,4,5 4) 25,145
Arrange the words given below in a meaningful sequence.

L Plate, 2. Cutting, 3. Cooking, 4. Vegetable, 5, Market
(1) 543,21 2} 5,4.2,3.1
(3) 541,23 (4 1,3,5,2,4
A By v vl @1 ue widE w9 A egaflerd Y |

1. %, 2. ®iel, 3. UHFI, 4. Hell, 5. §TolN

1y 5,43, 2,1 {2) 5.4.2.3,1

(3) 5,41,2,3 (4) 1,3,5,2,4

Find the next term in series 2A11, 4D13, 12G17, ... 7

[k

(1) 36119 (2) 3621
(3} 48121 (4) 48J23
goft 2A11, 4D13, 12G17, ... ? BT TAT 95 ST HIRG |
(1) 36119 (2) 36021

(3] 48]21 (4) 4823

(15) PTiek
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47. Find the next term in series 23148, 17G12, 13D4 .7
(1) 11A2 (2) 10A3
(3) 11A4 (4) 1082
Ay 23]48, 17G12, 1304 .. 2 & 30Tl 98 30 Frfo
() 11A2 (27 T0A3
(3) 11A4 (4) 10B2

48. Find the next term in series B25Y, C16W, DaLL, 245, ... 2

(1) F2G (2) F1Q
(3) F2Q ) F1Q
A0 B25Y, CieW, DU, EdS, ... 7

ey B26 (2) F1Q
(3) F20Q (4 E1Q

Direction (Question number 49 to 51) For the following information : Q is the son ol

AL P s the husband of A, Q has two children § and T, § is the daughter of R, M is the

sister of Q. T is the brother of &, Answer the following questions.

ﬁfﬂ[ﬂﬁmiﬂﬁﬂjﬁ'ﬁﬁﬂEET-ITESSHEIT{D?:Q,Amlﬁg‘r.pﬂqmqﬁ%_(&
G A gA SHRTE S RA A M, QP RRE T, S @ g & Ao mwi @

49. Howis M related toR 7
{1) Sister (2} Mother
(3) Sister in law (4) Aunt

M fre yeR RS TEfaa 8 ?

() T (2) I
(3) Frega-&f ) s



50.

51.

22.

23.
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How Ny females are there the family ?

(1) 4 5 §
= 2 4) 2
aRare i e e A @ 2

(1) 4 (@) 5
(3) 3 @ 2

How many males are there the family ?

(1) 4 (2) 3
(3) 2 (4) 5
oftgr & &a fhes qew ¥ 7

(1 4 (28
(3) 2 (4) 5

If PRIVATE is coded as 1234567 and RISK is coded as 2398, how is RIVETS
coded ?

(1) 232679 (2) 243769
(3) 2376y (4) 234976

e PRIVATE @1 &2 6 1234567 & W9 § 8 3R RISK @1 g wahas 2398 &
% & o RIVETS &1 @ dha+ od e s ?

i1y 232679 (2) 24376Y
(3) 234764 (4) 234976

In a certain code STUDENT is written as TUTDNES. How will SOURCES be
written in that code ?

(1) SOURCES (2) SUORECS

(3) SRUQOCES (4) SOURSEC

v [f¥Ea gz wrer 4 STUDENT @ TUTDNES feoran smar 21 welt ae o 3
SOURCES & @9 fér wmeem 2

(1) SOURCES (2) SUORECS

(1) SRUOQCES (4) SOURSEC

(17) H.T.0:
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54,

55.

56.

ar.

In a certain code SENSITIVE is wntlen as OHLVCWGYC. How will
MICROSOFT be written in that code ?

(1} KCAPMOQMDT (2) OKETQUQHYV

(3) KLAUMVMIR (1) LKBTNUNHS

ua fafdga @ Wl # SENSITIVE @ QHLVGWGYC feral i €| 2 @me "
3 MICROSOFT @1 &% ferg sy 7

(1) KGAPMOQMDT (2) OKETQUQHY

(3) KLAUMVMIR (4) LKBTNUNHS

in a code, CORNER is writlen as GSVRIV, How can CENTRAL be written in
that code 7

(1) GIRYVEFP (2) GIRXVEP

(3) GNEJKER (4) DFOUSBM

v #e w1 # CORNER Fr GSVRIV forar wmam &1 9301 @2 W # CENTRAL &)
ey ferm @ Wodr & 7

(1) GIRYVEDP (2} GIRXVEP

(3} GNFIKER (4) DFOUSBM

A man walks 1 km towards Easl and then he turns 1o South and walks 5 km.
Again he turns to East and walks 2 km, alter this, he turns 1o North and walks 4

Lm Now, how far is he from his starling point ?

(1} 10km (2} Ykm

{3) 5km (4) 4 km

g afdd yd @ e 1 fhedlo, aFwr 7 'ﬂTﬁ' o a8 alem # Sk Hqew ¥ aiw
5 frole worel #1 O 98 qRE B 3R GOl ¥ ok 2 ol e B 3we 4re, E
TR B &R geEl & o 9 fHodlo aw @ e 4 A g faeg P g e
(1} 10 fFodie (2) 9 fRorlo

(3) 5 [bodio (4) 4 fHoro

‘wu 8o North, turn right, then right again and then go to the left. In which
direction are you now 7

i1} North (2} Wesi
(3) East (4) South

(18)



a8.

29.

60.
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I T BAR OT € A ged # g9 4 ik A A o B s o e
Rerag?

(1) §Tw (2) qf¥agsy
(3) = (4) =féor

bpersons A, B, C, D, E and F are standing in a circle. B is between D and C. A is
between E and C. F is 1o the right side of D. Who is between A and F 2

() B (2) D

(3) C (4) F

0 A A, B, C, 1), E SR F v e A @ &1 B, DR CH P d ) A E o
CEFATARNFEDB AN WRE B AR Fb g & a2 2

(1} B (2} D

(3) C 4) E

If football is called Cricket, Cricket is called Basketball, Basketball is called
Badminton, Badminton is called Volleyball, Volleyball is called Hockeyv and
Hockey is called Golf, then which of the following games is not played using a
ball ?

(1) Volleyball (2) Baskelball

(3) Hockey : (4) Cricket

afe geard ol fhae we T fbde B aRaTd vE WG, gRdeae @ deion
FE WY, e & deTare dEr oy, didEra B 2 mer W e 2 @ T
FET WG, A1 (afoin well A 9 s-w1 O 4 1 Wi v T8 Qe oo ¢

(1) arelare (2) Iedi
(3) ! 4) fFae

A family went for a vacation, unfortunately, it rained daily for 13 days when
they were there. But whenever it rained in the mornings, they had clear
alternoons and vice versa. In all, they enjoved 11 mornings and 12 afternoons.
How many days in all did thev stay there ?

(1) 15 (2) 18 (3) 20 (4) 25
Ud URaR BE B A1 QU W9 3 a8 9 13 B9 a9 99 aww 2d) o
cift= o1 o yaig & axwnd g8, df ST @ e Rege W @ o iR cad
faméid wa § | Fo e, 5 11 @he 3R 12 suers @ aree B
ey ¢ ag] feq g w© 2
(1) 15 (2) 18 (3) 20 (4 25

(19) P.T.0.
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B1.

62.

63.

64.

65.

B is twice as old as A bul twice younger than F. C is half the age o A Dl 4%
twice older than 1D, Whao is the second oldest ?

{1y B 2) ) C D

B 9w i A W g a¢T & OfE F W A1 W miEn 81 C B 8E A B Sl 8 A
DJ 2 T g | g WEH 91 G § 7

4 B @) F (3) C ) D

A 180 m long train is running at 54 Kmph. How much time it will lake 1o cross
a ptatform of 120m long 7

(1) 20 seconds (2 22 seconds (31 19 seconds (41 18 seconds
180 ez ot T Yerrdr 54 e oy e @ afa @ d1g Wl 71 120 Frew ooy
FEETH F UR & ¥ 78 fean weg el ?

(1) 20 HHs (2) 22 9% (3) 19 HFs (4) 18 Twic
The diagonal of a cube is 8 ¥ 3 em. Find its surface arca.
(1) 34cm” (2) 364 em’ (3) 384 em’ (4) 384 em’
va B9 W B9 8 3YW B | SHBT RIS &3 I B |
(1) 34 96° (2) 3645 (3) 384 I (4 384

A parking lot contains 160 vehicles. Each vehicle is either a car or a truck, and
each vehicle is either red or green, 70 vehicles are red, and 120 vehicles are cars.
If there are 18 green trucks, how many red cars are there?

(1} 54 (2) 50 (3) 45 (4) 43
7 uld &g § 160 a2+ oid &1 JE TR a1 a1 B Al go @ R nle aEe
T AT AT @ BN B 70 aTEd oe 8 120 9% B B | ufe 18 =@ we & ol fred
Y e & 7

(1) 54 (2) 30 (3) 48 (4) 45

[t 5 people undertook a piece of construction work and finished half the ol i
15 days. If two people drop out, then the job will be compteted in how many
davs?

(1) 25 davs (2) 20days (3} 15 davs 4) 10 davs

afe 5 arfemal 7 w7 et wrd fam o Gemt anen w15 B4 '-;ss'. TEARFEE
afe <1 afdeal F @ e B, & ww Wa B qur g 2 ‘

(1y 25 == (2) 2034 (3) 15 3= () 10

(20}
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66. : N
A man can row 24 kmph in still water. It takes him thrice as long to row up as

b7,

68.

69.

to row down the river. Find the rate of the stream -
(1) 4 kmph (2) 12 kmph (3} & kmph (4) 1kmph
mmﬁﬁﬁﬂ?ﬁﬁ?dﬁﬁﬁﬁ!ﬂﬁ%ﬁﬂ&ﬁﬁﬁﬂﬂmmﬁﬂ%fﬁ~T"‘ q

qqrﬁa‘imﬁﬁﬁ#maaﬁﬁmaﬁ‘ﬁﬁnﬁﬂmﬁﬂﬁﬂﬁmﬁmwﬁ

(1) 4 fFofle ufyy wey (2) 12 f&orite afy ==
(31 o [hodlo 9fd ge (4) 1 fHodlo ofy gz

A large field of 900 hectares is divided into two parts. The difference of the
areas of the two parts is one-fifth of the average of the two areas, What 1s the
area of the smaller partin hectares ?

(1) 395 (2) 385 (3) 415 (4) 405

900 BIIR b TH 48 & B &1 9 A Rifer fRm oy ) 5 @ w8 A
F FR G 9T @ SFEE B sl @1 Ue dreat am @) 81 anT 37 dame
e § frear & ?

(1) 395 (2) 385 (3) 415 (4) 405

A man starts at 3 pm with the speed of 50 Kmph. Another man follows him at
4 pm with the speed of 75 Kmph. When will they meet ?

(1) 3pm (2) 6 pm (3) 7pm {(4) 6.30 pm

v W 3 a9 AR D 50 folo o w2 @ Y wer aww v 1 v@ g
499 W 75 fhodle ufd w2 M TR A I 9IS "o 21 A D ww ey 0

(1) 5a&& 9 (2) 699 A (3) 7@ W (4) 6.30 731 5y

A work could be completed in 100 days. However, due to the absence of 10
workers, it was completed in 110 days. Find the original number of workers ?
(1) 100 (2) 110 (3) 55 (4) 50

T B B 100 RE F [T R S e oy ofde, 10 oGt o seeRay @
e g% 11039 § @1 fvar ) worgyl Y avafde W s Sy

1) 100 (2} 110 (3) 35 (4} 50

(21} Pl
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70.

71.

72,

73.

74.

i a class, the average age of 30 boys is 13 years and lhe average of 20 girls 15
12 vears. What is the average age of the whole class ?

[I}li 12.5 Yrs 2) 142Yrs (3) 123 Yrs (4) 12.6 Yrs
v et 3 30 H! A shea 9 13 9 & d1 20 srefimal @ e i 12
R e A sl 9E aul € 7

(1) 12.5a7 2y 14270 (3) 12399 (4) 1260

R

Find the distance of the point A4, —4) from the origin:

(1) 32 (2) 42 (3) 6V2 () §v2
frg A(4, - @ T fog 9 g8 T Ao

(1) 32 (2) 432 (3) 632 (3] 4.0

The greatest possible length which can be used to measure exactly the lengtls
Tm, 3m8icm, 12m95emis:

(1) 15¢m {2} 35cm (3) 23¢m (41 35 ¢m

Te geiftie it erarg § Rrew gmn 7 Ay, 3 HIER 83 dodles, 12 7893
IR € aratE orergdl @ He A e T Gkl &

(1) 15 wenfer (2) 35 Herre (3) 25 Ve (1) 55 ¥EnE
The average of 7 numbers is 18. The average of first three numbers 15 14 and the
average of last three numbers 15 19, What is the middle number ?

{1) 42 (2) 57 (3) 27 (4} 37

= T @7 oftad 18 2| vom O ST @1 T 14 T R amE A9 afet B s
19 % | 98 @ &F P-4 8§ 7

(1) 42 {2) 57 (3) 27 {4 37

The average age of a class of 32 students is 16 years. I the teachers age 1= also
included, the average increases by one year. What is the age of the teacher ?

(1) 49 vears (2) 48 vears (3) 47 vears () 30 vears

v wen B 32 ©rE B offed 59 16 ad 21 AR Bews # Sy w o gnEe e
AT ol e 9 9 Wl & | S @) Iw e § 7

(1) 49 ¥ (2) 48 74 (3) 47 9 (4) 0 g

(22)



75,

786.

T

78.
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A, Band C start at the same lime in the same direction to run around 3 circular
stadium. A rounds i 252 seconds, B in 308 seconds and C in 195 seconds, all
starting at the same point. After what time will they again be at the slarting
point ?

(1} 26 minutes and 18 seconds (2) 45 minutes

(3) 46 minutes and 12 seconds {4) 42 minutes and 36 seconde
qzﬁrhﬂrmm%ﬁgaﬂ'www&aﬁﬁ-‘mﬁs,ﬂaﬁ?cwmﬁmﬁf&?nﬁ
atsd | W U A fivg W aen ove A 252 doke i B 308 ¥are aw C 198 =
H g S 8 ﬁscﬁmfﬁméwgﬁ:mﬁ@waﬁ?

(1) 26 Pe afte 18 9oz (2} 45 fame
(3} 46 fFre aiv 12 U9 (4) 42 e 3k 36 dos

Average ol five consecutive odd numbers is 35. Find the greatest number in
these five numbers ?

(i 31 () 33 (3) 39 (4) 35
T AR R G @1 o 358 1 ¥ ofg ot we g F g M
(1) 31 {2) 33 (3) 39 (4) 35

The sum of the ages of Moti and Akhil is twice the difference of their ages. Find
the ratio of Akhil's age to Moti's age :

(1) 3:1 {2y 2:3 {(3) 1:3 (4) 1:4
:%ﬁﬁhaﬂqaﬁﬁmm:ﬁzﬁw%aﬁ?mﬂw%;Hﬁqaaq‘h:i'ﬁa-ﬁ
34 @1 IO B Pifay

(1) 3:1 (2) 2:3 (3) 1:3 4) 1:4

The proportion of milk and water in 3 samplesis2:1,3:2and 5: 3. A mixture
comprising of equal quantities of all 3 samples is made. The proportion of milk
and water in the mixture is :

(1) 98:61 (2) 2271333 (3) 5:1 (4) 6:5
'.rf*l?ﬂfﬁﬁagcr:ﬂ"“nmr‘ﬂsza{gtrmz:‘l,}:iaﬁq5:3%|ﬂﬁ‘[fﬁﬁml—ii R
T 4TE H Us Ry IR R v e b GH SN Ot B S ¥

i) Y516 td) 22¢ 133 5} T | {4) 6:3

(23) F.T.O
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79.

80.

81.

82,

A sum of Rs. 12,500 amounts to Rs. 15,500 in 4 years al the rate of simple

interest. What is the rate of interest 7

(1) 5% (2) 4% (3) 5% (4 6
UF W AT H T W 12,500 To TR ad 3 15,500 wo B oET 2§ W B T
g 7

(1} 3% (2) 4% (3} 5% 4 6%

A sum of money amounts to Rs. 9,800 after 5 years and Rs. 12,003 after 8 vears
at the same rate of simple interest. The rate of interest per annum is:

(1) 5% (2) 8% (3) 12% (4] 15%

F1E U TRV & B T & 5 ad g2 9.800 To IR § TH A 12,005 T &
ST ¥ | e @ affes a €

(1) 5% (2} 8% (3) 12% L B ok

A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854
in 4 years. The sum is:

(1) Rs. 650 (2) Rs. 690 (3) Rs. 698 (4) Rs. 700
aﬂémwwaﬁm#ﬂaﬁﬁmgwaﬁuaﬂﬁ'«{re 854 Bl AW £ ¥
798

(1) %o 650 (2) %o 690 (3) ®o6Ys (4) Fo 700

A train running at the speed of 60 km/hr crosses a pole in 9 seconds. What is
the length of the train ?

(1} 120 metres (2) 180 metres

(3) 324 metres (4) 150 metres

Us o 60 frfle wiR He @ iy @ Sl g2 et @ ®1 9 wae # aw el #
oA @ wETg e E 7

(1) 120 7R (2) 180 %=

(3) 324 Arex (4) 150 #Ex

(24)
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84,

85.

86.
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I a rectangular hall of length 12 m and breadth 8 m, the sum of the areas of the

Heor and the ceiling is equal to the sum of the area of the four walls, Find (i
height of the hall,

(I) [m (2} 5m {3) 75m (4) 4.8m

TFE 12 MR e ek 8 Aiew e @ amreR BT 4, W9 4N oA $ f5uw @
AT A AR G AR B AT B avEw 2| v @ Saig §T D |

Cy 10 B (2) 5 Hew (3) 7.5 ifex (4) 4.8 drex

In an election, candidate A B0t 73% of the tolal valid votes. If 15% of the total
votes were declared invalid and the total numbers of voles was 5,60,000, find
the numbers of valid vote poiled in favour of candidate A.

(1) 3,57,600 (2) 3,56,000

(31 3,67,000 (4) 3.57,000

T Al 5 SRR A @ e S Hdl @1 75% fiar) o el Tl @l 15% wdw
f-:':r&nﬁmr.wm&ﬁ?ﬁﬁﬂﬁtﬁwiﬁﬁ,ﬂm&ﬁ.zﬂmaaﬁqﬁ#@
JeT T B T S i

{1} 357,600 (2) 3,56,000
13 307,000 (4) 3,357,000

How many numbers from 10 to 530 are exactly divisible by 3?
10 % 50 T @ o et 3 @ qeimar R # 7
(1) 13 (2) 12 (3) 14 (4) 11

A man covers a distance of 180 Km at 72 Kmph and next 190 Km at 88 Kmph.
What is his average speed for his whole journey of 370 Km ?

(1) 74.2 Kmph (2) 79.4 Kmph

(3) 77.25 Kmph (4) 78.5 Kmph

T afdd 180 fhofle @1 g@ 72 fEofle ufy w2 4 Afy W afk aprd 190 Fete
B 88 fikolo uft w & nfa & qur wear 2| wwe 370 fhefle @ wwy wr
5 for swidl s Ry @ & 7

(i 7ol Beedn ofy ger (2) 79.4 fForto o e
(31 7705 fRothe wfdy wer (4) 78.5 fdonto ufey e

(25) T8
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87.

88.

89.

90.

i ' i Jres : W 1 ‘.’P. '( S
A thief is noticed by a peliceman from 4 distance of U0 metres. The thiet start

running and policeman chases him. The thief and the policeman ruil af {he Taie
of 9 Kmph and 12 Kmph respectively. What is the difference between thern
after 3 minutes 7

(13 130 metres () 125 metres (3} 143 metres (4) At metres

v giora faRh o F1 300 fex F el @ Faar &) TR P AT S
qfera wwan Qier et 81 R SR gfeRt HAA 9 Rpodlo gid uE & 12 FRE
ofy B 4 o @ ol 21 3 e wig g @ dre e st A

(1) 130 A (2) 125 #re (3) 143 9T (4) 150 A

A and B together can plough a field in 10 hours but by himself A required
15 hours. How long would B take to plough the same field ?

(1) 10 hours (2) 20 hours

(3) 30 hours (4) 40 hours

A 3k B W Mems ARl Wa B 10 HE A S Had £ wd A @ w@d 15 "e
=y § 1 oW @ @1 S i B e § o Y

(1) 10E (2) 20%¢C
(3) 30%¢ (4) 4042

I[ § men or 12 women can do a piece of work in 10 days, then the number i
days required by 4 men and 4 women to finish the same work 15

afy 5 qow ar 12 Rl Gl @l 10 foe o @ W Al 4 GEu & WEY)
gmmﬁaw{iaﬁmaﬂﬁﬁﬁﬁﬁf&?aﬂﬁ?

(1) 8 (2) 10 (3) 12 (4) 14

A and B started a business with the investments in the ratio of 5 : 3 respectivel.
After 6 months from the start of the business, C joined them and the ro_u}mp'[;{ a
ratio between the investments of B and C was 21 3. If the annual profit carned
by them was Rs. 12,300, what was the difference between B's share and C-
share in the profit ?

AR B Y HET 53 @ B S Mg 4 TN wew fhun TR mE
6 e TwET C S wiAE g ofik PR # B R C @1 aiguit FE 2 3 o Al
S g WA T alfiw o To 12,300 o, o @ A B @ R oW C @ e
@ drg faar armw o 7

(1) 900 (23 800 (3) 730 (4) 930

(26)
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92.

93.

94.
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W hmh Lo fr‘}: has been named l}‘u: sl ]_H_fa,[_‘ﬁ_if“[ Cmmtr:'.,- in the world ?

(1) Denmark (2} Iceland

30 Austria (4) New Zealand
199 % waiftrs WYt 2w 5 @ ST & 7

(1} S (2) smzEers

(3) g @) =pficie

' which of the following cities, the United Nations University is located ?
(1 Geneva (2) New York
(3) Paris (4) Tokyo

T R # X e v e @1 Reafares Rua g7
(1) o (2) =gt

(3) oy (4) e

Phe Hozagiri dance belongs to which state ?

(1) Mizoram 12) Nagaland

(3) Sikkim (4} Tripura
2T e R e @ et &0

(1) fraRe (2) ArTTers

(3) Fafamm (4) g

Which amongst the following countries has the largest number of people of the

Indian origin 7

(1) Malaysia (2) Fiji

(3) Guyana (4) South Africa
}m?’?ﬂfﬁ%ﬁﬁﬂﬂ?ﬁﬂ%?ﬁrﬁﬁﬁMTﬁ?ﬁ??”
(1) =it (2) fon

3y T (4) =R

{er ) PR,
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95. HepatitisBisa disease of which of the following, *
(2} Heart
(4) Kidney

(1 Lungs

(3) Liver

sierafes B P & B fraa @l E 7

(1) %S (2) &
(3) (4) T

96. The first branch of which bank in China was inaugurated by PM Narendra
Modi in Shanghai ?
(1) HDFC (2) i
(3) SBI (4) Axis

S # Pra do @ g wRE B SqEied W s Al g T

T ?
(1) HDFC (2) 1CICI
(3) SBI {4) Axis

97. "Cocoisland”is located between ...

(1) India-Bangladesh (2) [ndia-Myanmar
(3) India-Pakistan (4) India-Sri Lanka
“EIEF AT w &9 fed ¥l

(1) ¥E—aeEe (2) T - R

(3) HA—UTTHTT (4) HIRT— AT

gB8. With what Farrel's law 18 concerned 7

(1) Intensity of waves (2} Velocity of winds
(3) Direction of winds (4) Speed of light
BRT o e e dafi & 7

(1) @i @t e (2) a1 @B AT

(3) @rg = fam (4) wwTE B AR

(28)




99,

100.

101.

102.

18P1291/22(Set-1)

The kargest producer of tobacco is :

(1) USA {2} India
(3) China (4) Brazil
T, BT qAH IS IS T &

{1) YoT¥Hoyo (2) 9ra

(3) 99 (4) srdTe

In which of the following cities, the International World Climale Change
Conference 2017 was organized ?

(1) Paris (2) Bonn

(3) London (4) Chicago
%ﬁﬂ%ﬁﬁ#%ﬂﬁaﬁﬁuﬁwm@w:m?ﬁmmm:w
o] ¥

(1) oftw (2) a=

(3) &g (4) fEremy

Who has been honoured with the 2018 Sahitya Akademi Bhasha Samman
Award ?

(1) Rahul Sankarnarayan (2) Shesh Anand Madhukar
(3} Visvanatha Satyanarayan (4) Thakazhi Sivasankara Pillai
T STBTeH! T T YRR 2018 3 e iy fvan mam ?

(1) ¥Tge gfdTamrge (2) 99 3 Ay

(3) faremsrer weamrE (4) uaTsh Rravien Aeerd

NCERT has collaborated with which internet company to teach students digital
safety 7

(1) Microsoft (2) Twitter
(3] Facebook (4) Google

THoRilogosiodto ¥ wrall w1 Rfea wwan 2 R 23 @ Ry fra ERAE e
@ WA WEgnT far & ?

(1) FTEshITTe (2) R
(3) FoigH (4) T

(29) P.T.O.



18P/291/22(Set-1)

103.

104.

105.

106.

ehidh weieht caterory al the 2018 India open
Mary Kom has won gold in which u-ubhl calerory al !

boxing tournament ?

(1) 64 kg weight catetory (2) 60 ke weight catetory
(3) 54 kg weight catetory (4) 48 kg weight catetory
a3 2018 B <o s sifeeT cAtie @ R R @ 4 i ofiar 2 7
(1) 6 e s a7l (2) 60 fvmo W A

(%) 54 feo ¥R (4) 48 b W A

Name of the person who was honoured with Padma Shree, Padma Bhushan,
Padma Vibhushan and Bharat Ratna as well?

(1) Satyajit Ray (2) Indira Gandhi

{3) Rabindranath Tagore (4) Sachin Tendulkar

foe o F [ U zfad & Uc;hfbﬁ_ EEURG IR G| f—[‘p;rj{q H T el m

71 wtag e e e ?

(1} HoTatE 4 (2) 3"'}(4-",\:* el
(3) =T AR (4) B i

Swami Vivekananda was the disciple of .........

(1) Raja Rammohan Roy (2) Swami Davanand Saraswali
(3) Shri Aurcbindo (4} Ramkrishna Paramhansa
i fEE .. & i g |

(1) ¥FAT RS T (2) VW AT R

(3) =i sefe=n (4) T UTAES

In India, which among the [ollowing states ranks first in tribal population ?

{1) Orissa (2} Chhattisgarh

(3) Manipur {(+4) Assam

v W referfeg wredl # 9 e wftanil e § geam s w g Y
(1) e (2) o

(3} AR (1) amem

(30)



107. When will be

108.

109.

110.
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e longest day in Australia ?

(1) March 23 (2) June 21

13) September 22 (4) December 22
TS % ey 7w fow wy By B 7

(1) 23773 (2) 21 97

(3} 22 R (4) 22 e

In the Union Budget 2018-19, the Central Government has allocated Rs. 48,000
crore forwhich scheme (o encourage farmers of solar farming ?

Vi KUSUM scheme (2) KUTSUB scheme
(30 KUSUN scheme ~ (4) KUTUB scheme

qFmE T 2018-19 § 9RT @) Iy WER 9 et w1 den wRhr @ forg
e e g W o & B wo 48,000 s iR famn 2 2

CTERUSUND dTaia (2) KUTSUB e
{31 KUSUN =gy (4) KUTUB #Zram

Which coutnry is to host the World Sustainable Development Summit -2018 ?

{10 South Africa {2) Nepal

(3 Brazil (4) India

9vg areig e R ¥9e-2018 1 doree) Fh—m 39w aren & 2
(1) ATIY e (2) ATTe

(3) arad (4) @

Which Indian swimmer has become the first Asian to swim across 'Ocean
Seven' ?

(1) Bhakli Sharma (2) Ashwin Menon

(3) Rehan Poncha {4) Rohan More

F el (NS ST W @) R TR @R @ ver uREE g v § 0
(1) st erat (2) ¥ 77

13) VEM U (4) & AN

(31) P.T.O.
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111

112.

A S T 1 T ¢ u and
The border Security Force (BSF) has taunched which eperation on Jamm

K ashmir's [nternational Border to curb inhiltration i

(1) Operation Border (2) Operalion Alert

(3) Operation Control (4) Operation Star

e e a@ (floTHouwo) A T SR Foiy @ sl @ o7 gRite e @
forq e affover gt R B 7

(1) aifoyer iy (2) sifover ar@d
(3) TTS e (4) ATNTH TR

In which city the Central Institute of Agricultural Engineering (CIAE] 1

located ?

(1) New Delhi (2) Bhopal
(3) Chennai (4) Pune

Ty Py gelifEaiT e (Preandotodo) fFa TER A Rerd & 7
(1) =% e (2) e

(3) ¥R (4) g

Direction : (Question No. 113-116) : In cach of these questions a sentence has been

given in Active Voice/Passive Voice. Out of the four alternatives suggested, sclect the

one which best expresses the same sentence in Passive Voice/ Active Voice.

113.

I did not trust anybody.

(1) Nobody was trusted by me.

{2) Anybody has been trusted by me.
(3) Nobedy would be trusted by me,

(4) Nobody has been trusted by me,

(32)




114.

115.

116.

117.

18P/291/22(Set-1)

Did he remember the date and time ?

(I) Are the date and time remembered by him ?
(2) Was he remembering the date and time ?

{3) Were the date and time remembered by him ?

(4) Did the date and time be remembered by him ?

The boys were digging a hole in the ground.

(1) A hole has been dug in the ground by the boys.
(2) In the ground, the boys dug the hole.

(3} A hole in the ground has been dug by the boys.

(4) A hole was being dug by the boys in the ground.

We must now deal with these problems.

(1) These problems must now be dealt with by us.
(2} These problems must now be dealing with by us.
{3} These problems must now deal with by us.

{4) These problems are to be dealt with by us.

Elephanta island is located in which state ?

(1) Karnataka (2) QOdisha

{3} West Bengal (4) Maharashtra
vfeseT gl e e § flog g 7

(1) &ATE® (2) TS

(3 T g (4) FEWIE

(33) P.T.O.
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118.

119.

120.

; : i T i -itizenship on
Name the Pakistan-born zinger who was gmn'md Inaan t

humanitarian ground with effect from January 1, 20106 7
(1) Ali Zafar (2) Atif Aslam
(3) Adnan Samu (4) Gulam Al
qifhe S e T @) A SR, W 9 1, 2016 Y R A

ET @ Mg 7

1y o (@)l
(3) AT TR (4) e el

I'o respect the constitutional autonomy, high courl of which state has directed

the government to hoist the state’s flag on all official building and cars ?
(1) Bihar (2) Jharkhand
(31 Meghalava (4) Jammu & Kashmir

disenfyE wTIEdl B O wed g e IO @ 9EE APNe T U &
Frter gl gen FW T e e @ fader e 7

(1) R (2) IR
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On which day National Girl Child Day is celebrated every vear to spread

awareness about the inequalities faced by the girl child in the country ?

(1) 8th March (2) 13th February

(3) 22nd May {4} 24th January

Fer  gTferEadl @7 fOTT ORI 1 AR hNAT WS § SWd WAl Wrehdl il
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(1) §3Td (2) 13 BT
(3) 227y (1) 24 ST

(34)
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